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I live on an island, and the surrounding water plays a great part in my life. I love to watch the 
life of waves – big, small or absent – and they were the inspiration for this design.

WavesDesign: Sarah Zachariasen

SIZES
4 years/104 cl (6 years/116 cl) 8 years/128 cl 
(10 years/140 cl) 12 years/152 cl (14 years/164 cl)

MEASUREMENTS
Fits chest circumference: 58-63 (64-67) 68-71 
(72-78) 79-84 (85-89) cm
Chest circumference: 70 (75) 79 (83) 90 (95) cm
Circumference, lower rib edging: 56 (60) 63 (67) 72 
(76) cm
Sleeve length: 26 (29) 32 (34) 39 (42) cm
Total length: 41 (43) 45 (47) 50 (53) cm

GAUGE
21 sts and 14 rows, in a pattern of alternating rows 
of dc and sc = 10 x 10 cm.
If you have more sts in 10 cm, try again using a larger 
hook. If you have less sts in 10 cm, change to a finer 
hook.

MATERIALS
Yarn from Filcolana
Colour A: 175 (200) 230 (255) 300 (330) g Arwetta 
in colour 197 (Aqua)
Colour B: 13 (14) 16 (17) 19 (20) g Tilia
in colour 281 (Rime Frost)
Colour C: 13 (14) 16 (17) 19 (20) g Tilia 
in colour 289 (Blue Coral)

Hook 3 mm
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Technical
ABBRIEVIATIONS

2dctog (decrease)
2 double crochet together

dc
double crochet

tr
treble

sc
single crochet

ch
chain stitch(es)

sl st
slip stitch(es)

sc in blo
sc in back loop only

st(s)
stitch(es)

inc
increase

dec
decrease

SPECIAL ABBRIEVIATIONS

Decrease (dec)
Crochet 2 sts together = Make 1 incomplete st in each 
of the next 2 sts, yarn over and pull through all loops on 
the hook. Abbrieviated eg as  2dctog – 2 dc together.

Increase (inc)
Make 2 sts in the same st.

 

Workflow
The sweater is made top-down in alternating rows of 
sc and dc except from the waves that are made in a 
combination of tr and sc. 

The sweater is made using one thread of Arwetta except 
from the waves that are made with 2 threads of Tilia 
held together.

First make the rib edging for the neck opening, then 
the yoke.

Put the stitches for the sleeves on hold while you make 
the body, then make the sleeves.
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Pattern
RIB EDGING
Ch 31 using colour A.
Make 64 (66) 66 (68) 68 (70) rows of 1 sc in blo in 
each st (= 30 sc in blo), and turn each row with 1 ch. 
Join the short edges with sl st. Fold the rib edging to 
make it double.

YOKE
The row begins in the middle of the back.
Note! Join each row with a sl st in the 1st st, turn and 
begin next row with 1 ch for a sc row or 2 ch for 
a dc row.

Row 1: (this is the right side, crochet through both 
layers of the rib): *1 sc, inc* repeat 32 (33) 33 (34) 
34 (35) times in total along the edge.
In total 96 (99) 99 (102) 102 (105) sts.

Row 2: *11 dc, inc* (*6 dc, inc*) *3 dc, inc* 
(*4 dc, inc*) *2 dc, inc* (*3 dc, inc*) 8 times in total 
(13 times + 8 dc) 21 times + 15 dc (18 times + 12 dc) 
26 times + 24 dc (23 times + 13 dc).
In total 104 (112) 120 (120) 128 (128) sts.

Row 3: 104 (112) 120 (120) 128 (128) sc.

Row 4: 104 (112) 120 (120) 128 (128) dc.

Row 5: 104 (112) 120 (120) 128 (128) sc.

Row 6: 104 (112) 120 (120) 128 (128) dc.

Row 7: 104 (112) 120 (120) 128 (128) sc.

Row 8: 104 (112) 120 (120) 128 (128) dc.

Row 9: 104 (112) 120 (120) 128 (128) sc.

Change to colour B and C.

Row 10: *1 sc, skip 3 sts, 11 tr in the next st, skip 
3 sts* repeat 13 (14) 15 (15) 16 (16) times. 
In total 156 (168) 180 (180) 192 (192) sts.

Row 11: 156 (168) 180 (180) 192 (192) sc

Change to colour A.

Row 12: 156 (168) 180 (180) 192 (192) dc

Row 13: 156 (168) 180 (180) 192 (192) sc

Change to colour B and C.

Row 14: *13 tr in the next st, skip 5 sts, 1 sc, skip 
5 sts* repeat 13 (14) 15 (15) 16 (16) times. 
In total 182 (196) 210 (210) 224 (224) sts.

Row 15: 182 (196) 210 (210) 224 (224) sc.

Change to colour A (Arwetta).

Row 16: 182 (196) 210 (210) 224 (224) dc.

Row 17: *5 sc, inc* (*6 sc, inc*) *7 sc, inc* 
(*6 sc, inc*) *6 sc, inc* (*5 sc, inc*), repeat from 
* to * in total 27 times + 20 sc (28 times) 25 times 
+ 10 sc (29 times + 7 sc) 29 times + 21 sc (35 times 
+ 14 sc).
In total 209 (224) 235 (239) 253 (259) sts.

Row 18: 209 (224) 235 (239) 253 (259) dc.

Row 19: 209 (224) 235 (239) 253 (259) sc.

Row 20: 209 (224) 235 (239) 253 (259) dc.

Row 21: *6 sc, inc* (*7 sc, inc*) *8 sc, inc* 
(*7 sc, inc*) *7 sc, inc* (*6 sc, inc*) in total 27 times 
+ 20 sc (28 times) 25 times + 10 sc (29 times + 7 sc) 
29 times + 21 sc (35 times + 14 sc).
In total 236 (252) 260 (268) 282 (294) sts.

ONLY size 8 (10) 12 (14) years
Row 22: 260 (268) 282 (294) dc.
Row 23: 260 (268) 282 (294) sc.

ONLY size 12 (14) years
Row 24: 282 (294) dc.
Row 25: 282 (294) sc.

ONLY size 14 years
Row 26: (294) dc.
Row 27: (294) sc.

All sizes
BODY
Row 22 (22) 24 (24) 26 (28): 35 (38) 39 (41) 44 
(46) dc, skip 49 (51) 52 (53) 54 (55) sts, ch 4 (4) 5 
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(6) 7 (8), 69 (75) 78 (81) 87 (92) dc, skip 49 (51) 52 
(53) 54 (55) sts, ch 4 (4) 5 (6) 7 (8), 34 (37) 39 (40) 
43 (46) dc.
In total 146 (158) 166 (174) 188 (200) sts.

Rows 23–51 (23–53) 25–56 (25–59) 27–64 
(29–68): Continue to alternate beteen rows of dc and 
sc. In the 1st row make 1 sc in each ch. 
In total 146 (158) 166 (174) 188 (200) sts.

Row 52 (54) 57 (60) 65 (69): *3 sc, dec* repeat 
from * to * in total 29 times + 1 sc (31 times + 3 sc) 33 
times + 1 sc (34 times + 4 sc) 37 times + 3 sc 
(40 times)
In total 117 (127) 133 (140) 151 (160) sts.

Do not break yarn.

Rib edging
Ch 11, vend, and 10 sc in blo, *1 sl st in the following 
2 sts on the edge of the sweater, ch 1 (turning chain), 
skip the 2 sl sts, 10 sc in blo, ch 1 (turning chain), 
10 sc in blo* repeat from * to * around. Join with sl st.

RIGHT SLEEVE
NOTE! Join each row with a sl st in the 1st st, turn and 
begin next row with 1 ch.
Join yarn from the wrong side in the last of the sts for 

the arm hole, right before the ch for the arm hole, and 
crochet from the wrong side.

Row 1: Decrease by making 2dctog over the same st as 
you joined the yarn in and the next dc, decrease once 
more by making 2dctog over the dc from the body 
and the 1st ch, 2 (2) 3 (4) 5 (6) dc (1 dc in each ch), 
decrease again by making 2dctog over last ch and next 
dc on the body. Decrease again by making 2dctog over 
dc from the body and the 1. st of the sleeve, 47 (49) 50 
(51) 52 (53) dc (4 sts decreased).
In total 53 (55) 57 (59) 61 (63) sts.

Rows 2–19 (2–23) 2–27 (2–31) 2–37 (2–41):
Alternate between rows of dc and sc.

Row 20 (24) 28 (32) 38 (42): *16 sc, inc* repeat 
3 times + 2 sc (udt, 54 sc) dec, 55 sc (*17 sc, dec* 
repeat 3 times + 2 sc) *19 sc, inc* repeat 3 times 
+ 1 sc (udt, 62 sc).
In total 56 (56) 56 (56) 64 (64) sts.

Change to colour B and C.

Row 21 (25) 29 (33) 39 (43): *1 sc, skip 3 sts, 
10 tr in the same st, skip 3 sts* repeat 7 (7) 7 (7) 8 (8) 
times. In total 77 (77) 77 (77) 88 (88) sts.

Row 22 (26) 30 (34) 40 (44): *1 sc, dec* repeat 
25 times + dec (*1 sc, dec* repeat 25 times + 2 sc) 
*1 sc, dec* repeat 24 times + 5 sc (*1 sc, dec* repeat 
23 times + 8 sc) *1 sc, dec* repeat 22 times + 11 dec 
(*1 sc, dec* repeat 24 times + 8 dec). 
In total 51 (52) 53 (54) 55 (56) sts.

Change to colour A.

Rows 23–27 (27–31) 31–35 (35–39) 41–45 
(45–49): Alternate between 1 row of dc and 1 row 
of sc.

Row 28 (32) 36 (40) 46 (50): *4 sc, dec* repeat 
8 times + 3 sc (*4 sc, dec* 8 times + 4 sc) *4 sc, dec* 
8 times + 5 sc (*4 sc, dec* 8 times + 6 sc) *4 sc, dec* 
8 times + 7 sc (*5 sc, dec* 8 times).
In total 43 (44) 45 (46) 47 (48) sts.

Row 29 (33) 37 (41) 47 (51): 43 (44) 45 (46) 47 
(48) dc.

Row 30 (34) 38 (42) 48 (52): *3 sc, dec* repeat
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8 times + 3 sc (*3 sc, dec* 8 times + 4 sc) *3 sc, dec* 
8 times + 5 sc (*3 sc, dec* 8 times + 6 sc) *3 sc, dec* 
8 times + 7 sc (*4 sc, dec* 8 times).
In total 35 (36) 37 (38) 39 (40) sts.

Row 31 (35) 39 (43) 49 (53): 35 (36) 37 (38) 39 
(40) dc.

Row 32 (36) 40 (44) 50 (54): *2 sc, dec* repeat 
8 times + 3 sc (*2 sc, dec* 8 times + 4 sc) *2 sc, dec* 
8 times + 5 sc (*2 sc, dec* 8 times + 6 sc) *2 sc, dec* 
8 times + 7 sc (*3 sc, dec* 8 times).
In total 27 (28) 29 (30) 31 (32) sts.

Do not break yarn.
 

Rib edging
Ch 7, 6 sc in blo, *1 sl st in the following 2 sts on the 
edge of the sleeve, ch 1 (turning chain), skip the 2 sl 
sts, 6 sc in blo, ch 1 (turning chain), 6 sc in blo* repeat 
from * to * around. Join with sl sts.

LEFT SLEEVE
Make the left sleeve in the same way as the right sleeve.

FINISHING
Weave in all ends.
Wash the sweater and let it dry flat on a towel


